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C FEM — ¢ D 9 -4.5
/ 5fu/30.2
A6061-T6 A5083-0
0.1 1 0.999
0.2 0.99 0.986
0.3 0.971 0.96
0.4 0.948 0.911
0.5 0.923 0.851
0.6 0.894 0.787
0.7 0.863 0.721
0.8 0.825 0.657
0.9 0.778 0.598
1.0 0.718 0.544
1.1 0.649 0.494
1.2 0.578 0.449
1.3 0.511 0.408
1.4 0.452 0.369
15 0.400 0.335
1.6 0.357 0.304
1.7 0.319 0.276
1.8 0.287 0.252
1.9 0.259 0.230
2.0 0.235 0.210
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2x8 0.9376
4x16 0.9337
8x32 0.9332

54



-E1 A6061T6
@ AJA =1
b/t ty(mm) | b,(mm) | t,(mm) | b (mm)
15 10 150 10.7 64.6
45 10 450 19.0 113.7
72 10 720 24.1 144.5
90 10 900 27.0 161.8
120 10 1200 31.2 187.2
150 10 1500 34.9 209.6
(b) AJA =2
by /t,, ty(mm) | b,(mm) | t (mm) | b, (mm)
15 10 150 7.5 45
45 10 450 13.3 80.0
72 10 720 16.9 101.5
90 10 900 19.0 113.7
120 10 1200 21.9 131.7
150 10 1500 24.6 147.5
(€ AJA =3
b/t ty(mm) | b,(mm) | t,(mm) | b;(mm)
15 10 150 6.1 36.3
45 10 450 10.8 64.6
72 10 720 13.7 82.4
90 10 900 15.4 92.4
120 10 1200 17.8 107.1
150 10 1500 20 120
(d AJ/A =4
b/t ty(mm) | b,(mm) | t,(mm) | b (mm)
15 10 150 5.2 31.1
45 10 450 9.3 55.6
72 10 720 11.8 71
90 10 900 13.3 79.7
120 10 1200 15.4 92.4
150 10 1500 17.3 103.6
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-E2 A50830

(a) AJA =1
b/t ty(mm) | by(mm) | t (mm) | b (mm)
15 10 150 11.8 58.8
45 10 450 20.7 103.6
90 10 900 29.5 147.5
108 10 1080 32.4 161.8
150 10 1500 38.2 191.2
180 10 1800 41.9 209.6
210 10 2100 45.3 226.6
(b) AJA =2
b/t ty(mm) | by(mm) | t (mm) | b;(mm)
15 10 150 8.2 40.9
45 10 450 14.5 72.5
90 10 900 20.7 103.6
108 10 1080 22.7 113.7
150 10 1500 26.9 134.5
180 10 1800 29.5 147.5
210 10 2100 31.9 159.5
(9 AJA =3
b/t ty(mm) | b,(mm) | t (mm) | b (mm)
15 10 150 6.6 32.9
45 10 450 13.7 68.3
90 10 900 16.8 84.1
108 10 1080 18.5 92.4
150 10 1500 21.9 109.3
180 10 1800 24 120
210 10 2100 26 129.8
(d) AJA =4
b/t ty(mm) | b,(mm) | t,(mm) | b (mm)
15 10 150 6.6 32.9
45 10 450 13.7 68.3
90 10 900 16.8 84.1
108 10 1080 18.5 92.4
150 10 1500 21.9 109.3
180 10 1800 24 120
210 10 2100 26 129.8
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-E3  AS083 0

(a) AJA =1
b/t ty(mm) | Bby(mm) |t (mm) by (mm)
45.7 10.5 478.1 21.9 109.5
93.9 10.3 968.9 31.1 155.5
142.5 10.3 1461.8 38.2 191
191.2 10.2 1955.8 44.2 221
(b) AJA =2
b/t ty(mm) | Bby(mm) |t (mm) by (mm)
47 10.3 484.7 15.3 76.5
95.7 10.2 978.1 21.9 109.5
144.7 10.2 1473.1 26.9 134.5
193.8 10.2 1968.9 31.1 155.5
(c) AJA =3
b/t ty(mm) | By(mm) | t; (mm) by (mm)
47.6 10.3 487.6 12.4 62
96.5 10.2 982.2 17.8 89
145.6 10.2 1478.1 21.9 109.5
194.9 10.1 1974.7 25.3 126.5
(d) AJA =4
b/t ty(mm) | By(mm) | t; (mm) b; (mm)
47.9 10.2 489.3 10.7 53.5
96.9 10.2 984.7 15.3 76.5
146.2 10.1 1481.1 18.9 94.5
195.7 10.1 1978.1 21.9 109.5
-E4 AB061T6
Au/ A b/t ty(mm) | b,(mm) | t,(mm) | b (mm)
2 96.1 10.2 980 10 120
3 146 10.14 1480 20 120




F FEM — ¢ o -54< 55
(a) AJA =1
Mu/(gWMY)

/f

b,/t,=15| b,/t, =45 | b,/t,=72 | b,/t,=90 | b,/t,=120| b,/t, =150
0.1 1.088 1.057 1.044 1.041 1.026 1.013
0.3 1.054 1.022 1.024 1.024 1.011 1.001
05 0.997 0.953 0.959 0.968 0.958 0.949
0.7 0.935 0.872 0.878 0.890 0.885 0.878
1.0 0.840 0.716 0.71 0.714 0.708 0.704
1.2 0.768 0.598 0.576 0.574 0.565 0.559
1.5 0.652 0.450 0.420 0.414 0.403 0.396
1.7 0.582 0.381 0.344 0.335 0.332 0.324

(b) AJA =2
Mu/(gWMY)

/f

b,/ty=15 | b,/t,=45| b,/t,=72 | b,/t,=90 | b,/t, =120 b,/t, =150
0.1 1.067 1.042 1.028 1.038 1.027 1.021
0.3 1.036 1.000 1.001 1.013 1.005 0.995
0.5 0.948 0.913 0.935 0.953 0.947 0.941
0.7 0.864 0.81 0.837 0.862 0.863 0.864
1.0 0.74 0.624 0.633 0.651 0.657 0.664
1.2 0.65 0.481 0.496 0.509 0.513 0.516
15 0.526 0.359 0.352 0.358 0.359 0.360
1.7 0.462 0.300 0.289 0.293 0.292 0.293
2.0 0.389 0.239 0.227 0.228 0.225 0.224
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© AJA =3

M u/(gwMY)
/ f
b,/t,=15 | b,/t,=45 | b,/t,=72 | b,/t, =90 | b,/t,=120] b,/t, =150
0.1 1.071 1.031 1.02 1.037 1.032 1.027
0.3 1.02 0.977 0.989 0.999 0.991 0.968
0.5 0.926 0.878 0.915 0.926 0.925 0.923
0.7 0.827 0.762 0.793 0.825 0.837 0.828
1.0 0.692 0.557 0.574 0.599 0.612 0.622
1.2 0.627 0.435 0.441 0.459 0.470 0.480
1.5 0.482 0.313 0.310 0.322 0.328 0.333
1.7 0.423 0.260 0.255 0.263 0.267 0.270
2.0 0.357 0.207 0.199 0.205 0.206 0.207
) AJA =4
M u/(gwMY)

e b,/t,=15 | b,/t,=45 | b,/t,=72 | b,/t,=90 | b,/t, =120 | h,/t, =150
0.1 1.062 1.025 1.018 1.043 1.042 1.037
0.3 1.005 0.96 0.965 0.993 0.952 0.947
0.5 0.904 0.849 0.873 0.901 0.906 0.908
0.7 0.794 0.721 0.757 0.795 0.797 0.8
1.0 0.654 0.508 0.525 0.552 0.57 0.587
1.2 0.564 0.393 0.400 0.421 0.437 0.436
1.5 0.457 0.282 0.281 0.295 0.304 0.31
1.7 0.399 0.235 0.231 0.242 0.248 0.252
2.0 0.291 0.188 0.182 0.189 0.192 0.195
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G FEM — S -58< 5.9
@ AJA =1
M u/(gwMY)
/ f
b,/t,=15| b,/t, =45 | b,/t,=90| b,/t, =108 | b,/t,=150| b,/t,=180| b,/t, =210
0.08 | 1.101 1.063 1.043 1.04 1.025 1.017 1.011
0.3 | 1.064 1.012 0.996 0.996 0.988 0.981 0.982
05 | 0.997 0.893 0.882 0.883 0.876 0.87 0.888
0.7 | 0911 0.775 0.748 0.749 0.741 0.736 0.768
1.0 | 0.794 0.616 0.574 0.57 0.561 0.555 0.589
1.2 | 0727 0.535 0.488 0.479 0.467 0.462 0.493
1.5 | 0.643 0.443 0.385 0.377 0.36 0.358 0.381
1.7 | 0.597 0.395 0.335 0.326 0.312 0.306 0.324
2.0 0.54 0.339 0.279 0.269 0.25 0.247 0.259
(b) AJA =2
M u/(gwMY)
/ f
b,/t,=15| b,/t, =45 | b,/t,=90| b,/t, =108 | b,/t,=150| b,/t,=180| b,/t, =210

0.08 | 1.086 1.054 1.032 1.046 1.028 1.022 1.016

03 | 1.034 0.989 0.98 0.982 0.977 0.971 0.967

05 | 0.944 0.845 0.856 0.864 0.863 0.86 0.856

0.7 | 0.838 0.705 0.71 0.719 0.726 0.721 0.719

1.0 | 0.705 0.532 0.517 0.525 0.531 0.53 0.529

1.2 | 0.633 0.444 0.425 0.429 0.432 0.431 0.431

1.5 | 0.547 0.352 0.324 0.324 0.324 0.321 0.32

1.7 | 0.502 0.307 0.277 0.273 0.271 0.27 0.267

20 | 0.445 0.256 0.224 0.219 0.214 0.214 0.208
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© AJA =3

M u/(gwMY)
/i b,/t,=15| b,/t, =45 b,/t,=90]| b,/t,=108]| b,/t,=150| b,/t,=180] b,/t, =210
0.08| 1.078 1.048 1.029 1.041 1.038 1.03 1.025
0.3 | 1.018 0.972 0.958 0.971 0.971 0.945 0.964
05 | 0.914 0.813 0.828 0.845 0.847 0.844 0.843
0.7 | 0.805 0.66 0.673 0.695 0.705 0.705 0.705
1.0 | 0.669 0.479 0.477 0.492 0.503 0.506 0.508
1.2 | 0597 0.397 0.384 0.394 0.404 0.406 0.409
15 0.51 0.309 0.286 0.292 0.298 0.297 0.3
1.7 | 0.466 0.267 0.241 0.245 0.247 0.247 0.248
20 | 0414 0.221 0.193 0.194 0.195 0.193 0.195
(d AJA =4
M u/(gwMY)
/ f
b,/t,=15| b,/t, =45 | b,/t,=90]| b,/t,=108| b,/t,=150| b,/t, =180 b,/t, =210
0.08 | 1.066 1.037 1.031 1.046 1.049 1.041 1.035
0.3 | 1.003 0.949 0.94 0.932 0.925 0.92 0.958
0.5 | 0.896 0.779 0.797 0.815 0.827 0.827 0.827
0.7 0.78 0.62 0.642 0.661 0.681 0.677 0.677
1.0 | 0641 0.44 0.438 0.459 0.479 0.484 0.488
12 | 0573 0.361 0.354 0.364 0.379 0.384 0.388
15 | 0.494 0.281 0.261 0.267 0.276 0.279 0.281
1.7 | 0.448 0.243 0.218 0.223 0.23 0.23 0.232
20 | 0.395 0.199 0.174 0.177 0.18 0.179 0.181
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H FEM — ¢ D A -5.12< 5.3

(a) AJA =1
/ ‘ M u/(gWMY)
b,/t,=45.7 | b,/t,=93.9 | b,/t,=1425] b,/t,=191.2
0.08 1.066 1.035 1.024 1.011
0.5 0.864 0.843 0.852 0.845
1.0 0.555 0.516 0.513 0.511
1.5 0.395 0.346 0.335 0.326
2.0 0.307 0.251 0.231 0.231
(b) AJA =2
/ ; M u/ gwMY)
b,/t,=47 | b,/t,=95.7 | b,/t,=144.7| b,/t,=193.8
0.08 1.056 1.027 1.026 1.015
0.5 0.837 0.844 0.853 0.848
1.0 0.489 0.493 0.506 0.512
1.5 0.323 0.309 0.316 0.321
2.0 0.242 0.219 0.219 0.218
(©) AJA =3
/ ; M u/(gwMY)
h,/t,=47.6 | b,/t,=96.5| b, /t,=1456 | b,/t,=194.9
0.08 1.04 1.026 1.034 1.021
0.5 0.834 0.838 0.855 0.852
1.0 0.473 0.482 0.515 0.521
15 0.305 0.297 0.316 0.324
2.0 0.225 0.207 0.215 0.222
(d AJA =4
/ M u/(gwMY)
b,/t,=47.9 | b,/t,=96.9 | b,/t,=146.2 | b, /t,=195.7
0.08 1.035 1.025 1.044 1.035
0.5 0.848 0.826 0.855 0.858
1.0 0.487 0.476 0.514 0.524
15 0.313 0.294 0.317 0.332
2.0 0.229 0.205 0.216 0.237
/| (512% 14V (5.10¢ |}f = t4 v # N
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| FEM — 4D 9 -5.17

(a)

Mu/(gwMY)
x AJA =2 AuJA; =3
b,/t, =96.1 b,/t, =146
0.1 1.042 1.021
0.5 0.984 0.963
1.0 0.747 0.790
15 0.437 0.484
2.0 0.276 0.303
(b)) %
Mu/(gwMY)
x AJA =2 AuJA; =3
b,/t,=96.1 b,/t, =146
0.1 1.064 1.038
0.5 1.007 0.992
1.0 0.763 0.809
15 0.445 0.490
2.0 0.282 0.306
/| G 14V (5.10)y | = t4 v #Nef
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J FEM — ¢ D o -5.18

(3 AJA =2 byft,=47

/ ' Mu/(gwMY)' :
»vKinh" fi © h™ fi o—q
0.08 1.056 1.055
0.5 0.837 0.828
1.0 0.489 0.480
15 0.323 0.313
2.0 0.242 0.233

() AJA =2 b/t ,=1447

/ : Mu/(gWMY)' .
»vYKinh  fi © h™ fi o—q
0.08 1.026 1.025
0.5 0.853 0.852
1.0 0.506 0.507
1.5 0.316 0.314
2.0 0.219 0.215
© AJA =3 b/t,=965
/ : Mu/(gWMY)' .
»vYKinh" fi © h™ fi o—q
0.08 1.026 1.025
0.5 0.837 0.835
1.0 0.482 0.480
1.5 0.297 0.291
2.0 0.207 0.200
d AJ/A =3 by/t,=1949
/, : Mu/(gwMY)' .
»vKinh" fi © h™ fi o—q
0.08 1.021 1.020
0.5 0.852 0.850
1.0 0.521 0.523
1.5 0.324 0.323
2.0 0.222 0.220
/| G.12% t4v (G10r |f = td vV # Nej
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